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Name  ___________________________________________  DUE  DATE:  __________  
  
Directions:      

•   Read  each  problem  carefully  and  use  your  knowledge  of  mathematics  to  
determine  your  answer.  

•   In  order  to  receive  FULL  CREDIT  you  must  either  SHOW  ALL  WORK  or  
EXPLAIN  how  you  got  your  answer!!    PLEASE  NOTE:    A  multiple  choice  answer  
alone  without  any  work  will  only  receive  half  credit.  

	
  
Question	
   Your	
  Work/Explanation	
  

1)	
  	
  Simplify:	
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2)	
  	
  Factor	
  completely:	
  
	
  

8𝑥(𝑥 − 3)- − 2𝑥/(𝑥 − 3)%	
  
	
  
	
  
	
  
	
  
	
  	
  
	
  
	
  

	
  

3)	
  	
  Which	
  of	
  the	
  following	
  expressions	
  is	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  equivalent	
  to	
   0
/
𝑎%

/
4𝑎3 %	
  ?	
  

	
  
	
  	
  	
  	
  	
  	
  	
  a)	
  	
  2𝑎0%	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  b)	
  	
  16𝑎0%	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  
	
  	
  	
  	
  	
  	
  	
  c)	
  	
  2𝑎/0	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  d)	
  	
  16𝑎/0	
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4)	
  	
  Find	
  the	
  horizontal	
  asymptotes,	
  if	
  any,	
  	
  
	
  	
  	
  	
  	
  	
  of	
  the	
  graph	
  of	
  	
  𝑓 𝑥 = %89	
  ;	
  0

%8<	
  ;	
  -
	
  

	
  
a)   	
  𝑦 = 1	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  b)	
  	
  𝑦 = 2	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  c)	
  	
  𝑦 = 0	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  d)	
  	
  none	
  

	
  
	
  
	
  

	
  

5)	
  	
  Solve	
  for	
  𝑥:	
  	
  	
  	
  	
  3𝑙𝑛𝑒/8;0 − 17 = 10	
  
	
  
a)   	
  	
  &0;DEF

/
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  b)	
  	
  	
   F

/DEG
− 0

/
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  

	
  	
  	
  	
  	
  	
  	
  c)	
  	
  23	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  d)	
  	
  4	
  

	
  	
  	
  
	
  
  

	
  

6)	
  	
  Multiply  or  find  the  special  product:            
	
  	
  	
  	
  	
  	
  (3𝑥 + 𝑦I)%  
  
        	
  	
  a)	
  	
  𝑥% + 9𝑥/𝑦I + 18𝑥𝑦0- + 3𝑦/0	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  b)	
  	
  27𝑥% + 27𝑥/𝑦I + 9𝑥𝑦0- + 𝑦/0	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  c)	
  	
  27𝑥% + 9𝑥/𝑦I + 3𝑥𝑦0- + 𝑦/0	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  d)	
  	
  27𝑥% + 𝑦/0	
  
	
  	
  
	
  
	
  

	
  

7)	
  	
  Evaluate  𝑔(𝑛 − 2)  for  the  function      

          𝑔 𝑥 = 	
   8
9	
  &	
  L
%8

    and  simplify.  
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8)	
  	
  Solve	
  for	
  𝑥:	
  	
  	
  	
  	
  30&8 = 58 	
  	
  
	
  

a)   	
  𝑙𝑛 0
3
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  b)	
  	
  𝑙𝑛 %

3
	
  	
  	
  	
  

	
  
	
  	
  	
  	
  	
  	
  	
  c)	
  	
   DE%

DE03
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  d)	
  	
   𝑙𝑛3 (𝑙𝑛15)	
  

	
  
	
  	
  	
  	
  
	
  
	
  
	
  	
  

	
  

9)	
  	
  Factor  completely:    6𝑥/ − 38𝑥 − 28        	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  
	
  
	
  	
  	
  	
  
	
  
	
  	
  	
  	
  	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  

10)	
  	
  Use	
  the	
  properties	
  of	
  logarithms	
  to	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  expand:	
  	
  𝑙𝑜𝑔O

8PQ9

R
	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  a)	
  	
  𝑥% + 𝑦% − 𝑤	
  	
  	
  	
  	
  	
  	
  	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  b)	
  	
  0

%
𝑙𝑜𝑔O𝑥 +

0
/
𝑙𝑜𝑔O𝑦 − 2𝑙𝑜𝑔O𝑤	
  	
  	
  	
  	
  	
  	
  	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  c)	
  	
  3𝑙𝑜𝑔O𝑥 + 2𝑙𝑜𝑔O𝑦 −

0
/
𝑙𝑜𝑔O𝑤	
  	
  	
  	
  	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  d)	
  	
  %DTU8;/DTUQ

0 / DTUR
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11)	
  	
  Simplify:  
  
    7 27𝑥3𝑦/ 	
  − 4𝑥 75𝑥%𝑦/	
   + 	
  2𝑥/ 12𝑥𝑦/    	
  	
  
	
  
	
  
	
  	
  
	
  	
  	
  	
  
	
  
	
  	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  

12)	
  	
  Divide:    (3𝑥- − 𝑥 + 1) ÷ (𝑥/ + 1)  
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